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1.4 Brown OUOUOUOO: Gauss O OO

1.4.1 Gauss O

00 1.3 (Gauss 0) 000000 {Xs; a € A} 0O Gauss 0O0OOD
oooooooO0 n O00ay,ae,...,a, € AODODOOn OOOOOO
(Xay,-... X, ) 000000

Gty (Uly ooy lpy) = E

exp{i Z Ui X, }]

k=1

) n 1 n
= exp{zZukmk ~3 Z Vieurue}l (1.8)
k=1 k,e=1

DDDDDV:(V;M)EII]anDDDDDDDDDDDDDDDDDDDD
000 VO{a}OODOOOOOOOO

011 XU 100 GewssOODOOOOUO1000OOOODOO {X}O
Gauss 0 OOO0O

oooo 1.3 (18) 0w, 000000000w =...=u,=000000
agood

EXj:mj
oooooo0w,w; 000000000 vy =...=u,=0000000
aod

CO'U(XZ',X]') = E(XZ — ml)(X] — mj) = Vvi,j
gooboooooon

o0 1.5 (i) X1,...,X, 00000000 100 GeussOOOOOO
00000 Xi+...+X,000 100 GaussOOOOOOOO

(i) {Xn},>, 0 100 Gauss 00000000X, 0000 X00O00O
000D00000X 000 Gauss00OD0D0000

0000 1.4 00000000000000G) 00 X4,...,X, 0000
oo0 Xh+...+X,00000

V() =E (X1t +Xn)



14 010 Brown OO
00000000000
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cov(Xy,Ys) = E[(Xo — EX,)(Ys — EY3)] =0
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1.4.2 Gauss OO OO0 Brown OO
00 1.7 {B(t), t€[0,00)} 0000 Brown 0000000,

(i) 0<s<t<ooDOOO,

E[B(t)B(s)] = min{s,t} = s.

(i) t>0000,n0000000,

E[B@t)* '] =0, E[B(t)*]=

0000 1.7 00 17000000
0000B(t)—B(s)0 B(s) 0000000

o0 k 2

E[B(t)k] :/ Y e F dr

_oo V27t

good



14, Brown O00O0O0O0O: Gauss OO OO 15
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00 1.8 &,&,...0000 N(0,1) 000000000000000000
tefo,n] D000

X(t) = %&) + \/zz yfn (1.10)
n=1

00000X(#) O tef0,7]000 Brown DOODODOO

00 X(t) O Gauss 00O O0O0OOOOODO l6eO0000OO0DODOOOO
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cov(X(t), X(s)) = min{s,t} (1.11)
gboboobOboooobobo<u<s<tOOOO

cov(X(t) — X(s), X(u)) = cov(X(t), X (u)) — cov(X(s), X (u)) =u—u=0
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